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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 38 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 38 questions. 
•••• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 
•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
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uksV %uksV %uksV %uksV %            (i) iz'u Øekad 1 ls 3 esa ls dksbZ nksnksnksnks iz'u djsaA 'ks"k lHkh iz'u vfuok;Z gSaA'ks"k lHkh iz'u vfuok;Z gSaA'ks"k lHkh iz'u vfuok;Z gSaA'ks"k lHkh iz'u vfuok;Z gSaA 

  Attempt any two questions from question numbers 1 to 3. Rest are 

compulsory. 

 (ii) izR;sd iz'u ds vad mlds lkeus fn, x, gSaA    
  Marks of each question are indicated against them. 

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nhft,A    
  Answer the questions according to their marks. 

1. MkVkcsl ds fofHkUu MkVk ekWMy dk o.kZu djsaA 5 

Explain various data models in database. 

2. lc VksVy Vwy D;k gS \ bls Calc esa yxkus ds pj.k fy[ksaA 5 

What is subtotal tool ? Write steps to apply it in Calc. 

3. ,d LizsM'khV ds gkbijfyad dks nwljs LizsM'khV esa cukus ds pj.k fy[ksaA 5 

Write steps to create a hyperlink for a spreadsheet in another spreadsheet. 

4. Calc ds Qhpj D;k gSa \ 3 

What are the features of Calc ? 

5. mcUVw esa Qkby dks cukus vkSj lso djus ds pj.k fy[ksaA 3 

Write steps to create and save a file in Ubuntu. 

6. Libre Office csl esa VsDLV MkVk Vkbi ij fVIi.kh fy[ksaA 3 

Write note on text data types in Libre Office Base. 

7. ,d MkWD;wesaV esa best+ Mkyus ds pj.k fy[ksaA 3 

Write steps to insert an image to a document. 
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8. fofHkUu VsDLV jSfiax Vwy dk o.kZu djsaA 3 

Explain various text wrapping tools. 

9. dEI;wVj ij dk;Z djrs le; gksus okys LVªsl fMlvkWMZj D;k gSa \ 2 

What are stress disorders while working on computer ? 

10. eSØks esa dkSu&ls ,D'ku fjdkWMZ ughaughaughaugha  gksrs gSa \ 2 

What action are not recorded by macros ? 

11. fjfifVfVo LVªsu pksV D;k gS \  2 

What is repetitive strain injury ?  

12. izkbejh ^dh* D;k gS \ 2 

What is primary key ? 

13. MkWD;wesaV esa LVkby yxkus ds pj.k fy[ksaA 2 

Write steps to apply styles to a document. 

[ oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u ] 

[ Objective Type Questions ] 

14. igys ls ifjHkkf"kr ------------- dk mi;ksx djus ls MkWD;wesaV esa cqdekdZ curs gSaA 1 

Using predefined …………. creates bookmark in the document. 

15. ICT dk iw.kZ :i -------------- gSA 1 

Full form of ICT is …………. . 

16. fo.Mks ,d ------------ flLVe gSA 1 

Windows is an …………. system. 
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17. ,d fjDykbaM dks.k --------------ds izs'kj dks de djrk gSA 1 

A reclined angle reduces ………… pressure. 

18. MkVkcsl dh lcls NksVh bdkbZ ------------ gSA 1 

A …………. is the smallest entity in database. 

19. ------------- ykWftdy lacaf/kr MkVk vkbVe dk laxzg gS tks fd O;ofLFkr :i esa j[kk tkrk gSA 1 

A …………. is a collection of logically related data items stored in organized 

manner. 

20. -------------- ,d flaxy baLVªD'ku gS tks fd baLVªD'ku ds lsV ij dk;Z djrh gSA 1 

A …………. is a single instruction that executes a set of instructions. 

21. jkbVj esa ------------- LVkby o.kksZa ds lewg ij dk;Z ds fy, gksrk gSA 1 

(A) Ýse  (B) djsDVj 

(C) fyLV  (D) Vscy 

In writer, …………. style is used to work on block of letters. 

(A) Frame (B) Character 

(C) List  (D) Table 

22. jkbVj esa best+ dks Bhd djus ds fy, ------------- izdkj ds fQYVj gksrs gSaA 1 

(A) 5  (B) 10 

(C) 11  (D) 3 

In writer, there are ………….. types of filters for improving an image. 

(A) 5  (B) 10 

(C) 11  (D) 3 
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23. "What-if" Vwy esa vkmViqV dgk¡ fn[kkbZ nsrh gS \ 1 

(A) MªkWi Mkmu fyLV esa (B) mlh lsy esa 

(C) (A) vkSj (B) nksuksa esa (D) dksbZ ugha 

Where the output is displayed in "What-if" tool ? 

(A) In drop down list (B) In same cell 

(C) In both (A) and (B) (D) None 

24. ,ClksY;wV lsy jsQjsaflax dk mnkgj.k ------------- gSA 1 

(A) #C#5 (B) #C5 

(C) $C$5 (D) !C!5 

………….. is an example of absolute cell referencing. 

(A) #C#5 (B) #C5 

(C) $C$5 (D) !C!5 

25. Lislckj ,d ------------- ^dh* gSA 1 

(A) dekaM  (B) usohxs'ku 

(C) daVªksy  (D) gkse 

Space bar is a …………. key. 

(A) Command (B) Navigation 

(C) Control (D) Home 
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26. nSfud lapkj.k esa ------------- izfr'kr lapkj.k 'kCnksa ls gksrk gSA 1 

(A) 55  (B) 38 

(C) 20  (D) 7 

In day-to-day communication, …………. percent communication is done using 

words. 

(A) 55  (B) 38 

(C) 20  (D) 7 

27. ,d DoSjh ju djus dh 'kkWVZdV ^dh* ------------- gSA 1 

(A) F5  (B) F3 

(C) F7  (D) F9 

Shortcut key to run a query is ………….. . 

(A) F5  (B) F3 

(C) F7  (D) F9 

28. ,d DoSjh dks ------------- rjhdksa ls cuk;k tk ldrk gSA 1 

(A) 2  (B) 3 

(C) 4  (D) 5 

A query can be created in …………. ways. 

(A) 2  (B) 3 

(C) 4  (D) 5 
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29. ,d ,fUVVh ls tqM+h foLr`r tkudkjh ------------ dgykrh gSA 1 

(A) ,VªhC;wV (B) fjdkWMZ 

(C) Vscy  (D) dksbZ ugha 

The details associated with an entity are called …………. . 

(A) Attributes (B) Record 

(C) Table (D) None 

30. -------------- ,d izksxzkfeax ySaXost gSA 1 

(A) jkbVj  (B) dSYd 

(C) eSØks  (D) csfld 

…………… is a programming language. 

(A) Writer (B) Calc 

(C) Macro (D) BASIC 

31. ------------- dk mi;ksx MkVk dks foÑr gksus ls cpkus ds fy, gksrk gSA 1 

………….. is used to prevent data from getting corrupt. 

32. jkbVj esa ------------- vkWI'ku best+ dks lHkh vkWCtsDV ds Åij j[krk gSA 1 

In writer, ………… option places image on top of all objects. 

33. psgjs ds gko&Hkko ------------- lapkj.k dk mnkgj.k gSA 1 

Facial expression is an example of …………. communication. 
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34. LVkVZ esU;w ------------- ^dh* dks nckus ls [kqyrk gSA 1 

Pressing …………. key opens the start menu. 

35. IDE dk iw.kZ :i -------------- gSA 1 

Full form of IDE is …………. . 

36. jkbVj esa ------------ Mªkbax ;k best+ ds fy, ,d jsQjsal IokbaV dh rjg gSA 1 

In writer, ………….. acts as a reference point for image or drawing. 

37. JPEG dk iw.kZ :i -------------- gSA 1 

Full form of JPEG is …………. . 

38. MkWD;wesaV esa best+ isLV djus dh 'kkWVZdV ^dh* ------------- gSA 1 

Shortcut key to paste image in a document is ………….. . 

S 


